flux

A? / 0.5575

A? / 0.5505

50

100

50

150 200

100

crv 141 km/s

Fe2 + Continuum Fit
Opep 488 +/— 150 km/s
"_' T T T | T T T | T

X in / 4596 = 0.5575

o
w‘

oo

[ : 1 1 1 1 I 1 —_— 1 I 1 1 1 1 AJ__I 1 1 1 I 1 1 1 1 I 1 1 1 I 1 1 1 I 1 _|_L 1 1 -I

2500 3000 3500 4000 4500 5000 5500 6000 6500
Rest A (&)
Fe2 Scale Factor X2 Diagnosis

o, 141 km/s 0.02209(129) x rin / 4596 O 5575
— T T T T — T I T T - T 1 T T T

= rm168 RMS 6 69 —
L MAD 5.60 _
L L L | L L L | L L L | L L L L | L L L L | L L L | L

0.015 0.02 0.025 0.03 0.035 0.04
Fe2 scale factor
Fe2 Velocity Dispersion X2 Diagnosis

o, 100 1474 prior 225 km/s 330(150) x rin / 4596 0. 5575
C T I T I T I T I T I T I T I ]
N rmh 168 RMS 29. O 7]
i MAD 18.5 1
L | . | i
0 200 400 600 800 1000 1200 1400 1600 1800

Fe2 Dispersion (km/s)



